Exponential & Logarithmic Functions

[PT 99-25]

Solve the given exponential equation.

1) 35x—3 — 3x+5

4x
42X

4) = =64

Write each log in exponential form.

6) log, 64 =3

9) logs %2 =-1/3

Write each exponential in log form.

11) 2° =64

14) 7° =1

2) 9x — 3x+3

5) 161 =g

7) logs (1/3) =-1

10) logs 1=0

12) 10° =1000

1
15) 5¢ =45
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3) 27*t =g

8) |Ogle 8=%

1

2
13) 27 3 ==
9



Evaluate the given log.
16) logs 81 17) logs (1/36) 18) logs 4

19) logg (-27) 20) logs (logs 243)

Solve the given log equation for x, y, or b.
21) log; x =5 22) logs (1/64) =y 23) logg 32 =y

24) logp (1/8) = -3 25)logr 1 =0

Answers: 1) x=2 2)x=3 3)x=-1 4)x=-1,3 5)x=1/3,1 6)4°=64 7)3'=1/3
3 1
8) 164=8 9)8°3 =% 10)3°=1 11)log,64=6 12)log1000=3 13) log,, % = —%

14)log; 1=0 15) log, 45 :% 16)4 17)-2 18)2/3 19) notdefined 20) 1
21)x=32 22)y=-3 23)y=5/3 24)b=2 25)bisany positive real number



